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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor
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ling: col ['ECC’] is missing

4 6

day

6.6 7

6.4

6.2

6.0

5.8

9.6 7

——

PHB*10%

gggggg
vvvvvv
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-4 0
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P3-4

BrE | GEBAK @) | ERE(EA/H) (KK ERE

01:00 125 80.0 & BRi%@01:00 (FRF1EREE)
02:00 125 80.0 = Ri%@02:00 (KRFERE)
03:00 125 80.0 & Fn#He03:00 (KFERES)
07:45 125 80.0 & FiHA@07:45 (KAL)
09:40 125 80.0 5 7iHA@09:40 (KRAFEREE)
10:55 125 80.0 5 FnH#fe10:55 (KREERSS)
12:00 125 80.0 5 FiHf@12:00 (KAL)
13:05 125 80.0 5 FiHA@13:05 (KRAHERE)
14:20 125 80.0 5 FifAe14:20 (KRAERE)
15:50 125 80.0 5 FiHf@15:50 (FKRF1ERES)
Bit|1250.0 (10%) 800. 0 32 S#KEC: 1948.0, PH: 6.5

unusual large postFgEt from yesterday (301), set to 240.0 ml.
RER it ElRECEIEIR K.
REXREB I HEREC/PHETR K, AT BERIMAEELRTR



FRV (ml plant-1)
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P3-4_0, Day=12 (2025-04-10)
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1 @ . 2 &

- 400

T
N
o
o

FRV (ml d-1)

VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, adjFRV, ET 9971 600
519

T
o

- 1000

- 500

£33 E3 E3 = £33 E3 E3 = £33 E3 E3 = £33 E3 E3

\ A A Warking:A;oI [Al obe™, 'PPFD obs’] is missing
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P3-4

BFE) | GEBRTIK () | ElE (EF/F) | XS R

01:00 120 70.0 A 1BR1&@01:00 (R FHfERLES)
02:00 120 70.0 A BRi%@02:00 (KRFIFEREE)
03:00 120 70.0 1] B3i%@03:00 (FKFERSE)
08:10 120 70.0 1] B31%@08:10 (KR F{ERLEE)
10:40 120 70.0 (2= B1%010:40 (RFERSE)
11:55 120 70.0 (&= Bi%011:55 (GREERSE)
13:05 120 70.0 & B318@13:05 (KRFEREE)
14:10 120 70.0 5 BRige14:10 (REHEREE)
15:15 120 70.0 5 Bi%015:15 (REERSE)
23t[1080.0 (9%) 630. 0 32 3KEC: 1978.0, PH: 6.5

EREBRTKC (120. 0) 57a#A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

Mot 2R 56




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=11 (2025-04-09)

------------------------------------------------------------------------------------- - 600
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1978.0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-4

BfiE) | GEBIETK (D) | EHE (EH/HR) | XK R

01:00 120 70.0 5 {B31&@01:00 (KRF{ERLEE)
02:00 120 70.0 = BRi%@02:00 (KRFFEREE)
03:00 120 70.0 (&= B3%£@03:00 (KRFERSE)
08:10 120 70.0 (2= B31%@08:10 (KR F{ERLEE)
09:25 120 70.0 5 1218009 :25 (KRF{ERLEE)
10:40 120 70.0 5 B1%010:40 (REERSE)
11:50 120 70.0 (2= Bi%@11:50 (REERSE)
13:05 120 70.0 (2= Bi%013:05 (REERSE)
14:20 120 70.0 (=& Bi%014:20 (REERSE)
23t[1080.0 (9%) 630. 0 3Z3KEC: 1900.0, PH: 6.5

EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

large discrepency for begining water status (191:285.0), set to 210.0 ml.
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=10 (2025-04-08)

------------------------------------------------------------------------------------- L 600
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00 Warning: lcol [FVI',| "FVO’'] missing 00
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P3-4

BfE) | GEBAK(F) | ERE(EAH/K) (XS R

01:00 120 70.0 1] BRi&@01:00 (FKFEREE)
02:00 120 70.0 1] 1R1%@02:00 (K FHfERLES)
03:00 120 70.0 1] Bi%@03:00 (FKFERSE)
06:15 120 70.0 (2= B31&@06:15 (KRF{EREE)
09:00 120 70.0 | = 131£@09:00 (K FH{ERLEE)
10:20 120 70.0 | = BRi%e10:20 (RFEFERER)
11:40 120 70.0 = BRi&e11:40 (KRBERE)
13:05 120 70.0 5 BRi%@13:05 (RFEREES)
14:20 120 70.0 5 Big@14:20 (KRFHEREE)
15:35 120 70.0 = B1%015:35 (KREERSE)
23+ 1200.0 (100%) 700.0 32 3KEC: 1900.0, PH: 6.5

EREBRTKC (120. 0) 57a#A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

Mot 2R 56




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4 0, Day=9 (2025-04-07)

------------------------------------------------------------------------------------- L 600
604 VI VO3ERV.ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 5353096
- 400 ©
40 A _
E
| =>
20 ZOOE
00 Warning: lcol [FVI',| "FVO’'] missing 00
100 -0
( ERV — ME 430.0
75 1 maxM
---------------------------------------------------------------------------- 4 27.5
Ll
50 7 L 250 =
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N
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n
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0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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0.8 4 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
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Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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1 C
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200 4 y g o=nan o o )\ o s
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large discrepency for begining water status (132:282.0), set to 162.0 ml.
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